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QUESTION NO: 1

When using the misuse of inspection technology, normal user behavior and invasion characteristics knowledge base match 
successfully will be false positives.

A. TRUE

B. FALSE

ANSWER: A 

QUESTION NO: 2

Agile Controller-Campus The product architecture includes three levels. Which of the following options does not belong to 
the product architecture level?

A. Server layer

B. Network device layer

C. Access control layer

D. User access layer

ANSWER: C 

QUESTION NO: 3

SACG Inquire right-manager The information is as follows, which options are correct? (Multiple choice)

A. SACG and IP Address is 2.1.1.1 The server linkage is unsuccessful.

B. SACG The linkage with the controller is successful.

C. main controller IP address is 1.1.1.2.

D. main controller IP address is 2.1.1.1.

ANSWER: B C 
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QUESTION NO: 4

About in WLAN User isolation technology is used in the networking environment. Which of the following statements is 
wrong?

A. User isolation between groups means that users in different groups cannot communicate, but internal users in the same 
group can communicate

B. Isolation within a user group means that users within the same group cannot communicate with each other.

C. The user isolation function is related to the same AP Layer 2 packets between all wireless users on the Internet cannot be 
forwarded to each other

D. Intra-group isolation and inter-group isolation cannot be used at the same time

ANSWER: D 

QUESTION NO: 5

If you are deploying BYOD When the system is installed, use a stand-alone installation SM, Dual-machine installation SC, 
Stand-alone hardware deployment AE,Which of the following descriptions are correct? (Multiple choice)

A. AE Server priority use)SC server.

B. Install AE When the server, you need to configure the main and standby SC Server IP address.

C. If the Lord SC After the server fails,AE The server will use the backup SC server.

D. host SC After the server is restored,AE Server will not switch back to master SC The server handles the business.

ANSWER: B C 

QUESTION NO: 6

Which of the following options are relevant to MAC Certification and MAC The description of bypass authentication is 
correct? (Multiple choice)

A. MAC Certification is based on MAC The address is an authentication method that controls the user's network access 
authority. It does not require the user to install any client software.

B. MAC Bypass authentication is first performed on the devices that are connected to the authentication 802 1X 
Certification;If the device is 802. 1X No response from authentication, re-use MAC The authentication method verifies the 
legitimacy of the device.

C. MAC During the authentication process, the user is required to manually enter the user name or password.
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D. MAC The bypass authentication process does not MAC The address is used as the user name and password to 
automatically access the network.

ANSWER: A B 

QUESTION NO: 7

There are two ways for Business Manager to download patches. When using hierarchical deployment, you can download 
patches directly from the management center or through Microsoft patches Server download patch.

A. right

B. wrong

ANSWER: B 

QUESTION NO: 8

In the Agile Controller-Campus solution, which device is usually used as the hardware SACG?

A. router

B. switch

C. Firewall

D. IPS

ANSWER: C 

QUESTION NO: 9

Visitors can access the network through their registered account. Which of the following is not an account approval method?

A. Exemption from approval

B. Administrator approval

C. Receptionist approval
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D. Self-approved by visitors

ANSWER: D 

QUESTION NO: 10

Configuring WLAN device detection can realize the monitoring of the entire network, but you need to set the working mode of 
the AP first, which of the following options are.

What is the working mode of AP? (multiple choice)

A. access mode

B. Normal mode

C. Mixed mode

D. Monitoring mode

ANSWER: B D 

QUESTION NO: 11

VIP Experience guarantee, from which two aspects are the main guarantees VIP User experience? (Multiple choice)

A. bandwidth

B. Forwarding priority

C. Authority

D. Strategy

ANSWER: A B 

QUESTION NO: 12

A policy template is a collection of several policies. In order to audit the security status of different terminal hosts and the 
behavior of end users, the administrator needs to customize.

The same policy template is used to protect and manage terminal hosts. Regarding the policy template, which of the 
following option descriptions are correct? (multiple choice)
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A. When configuring the policy template, you can inherit the parent template and modify the parent template policy

B. Only the strategy in the strategy template can be used, and the administrator cannot customize the strategy.

C. You can assign a policy template to a certain network segment.

D. If different policy templates are applied to departments and accounts, the policy template assigned to the highest priority 
will take effect. The priority relationship of the number is: account>department

ANSWER: C D 

QUESTION NO: 13

Agile Controller-Campus The system can manage the software installed on the terminal, define the black and white list of 
software, and assist the terminal to install necessary software and uninstall the software that is not allowed to be installed by 
linking with the access control equipment,Regarding the definition of black and white lists, which of the following statements 
is correct?

A. Check for prohibited software licenses and sub-licensed software

B. Check for prohibited software

C. Check for prohibited software and software that must be installed

D. Check the software that must be installed

ANSWER: C 

QUESTION NO: 14

Which of the following options is right PKI The sequence description of the work process is correct?

1. PKI Entity direction CA ask CA Certificate. .

2. PKI Entity received CA After the certificate, install CA Certificate.

3. CA receive PKI Entity CA When requesting a certificate, add your own CA Certificate reply to PKI entity.

4. PKI Entity direction CA Send a certificate registration request message.

5. PKI When the entities communicate with each other, they need to obtain and install the local certificate of the opposite 
entity.

6. PKI Entity received CA The certificate information sent.

7. PKI After the entity installs the local certificate of the opposite entity,Verify the validity of the local certificate of the peer 
entity. When the certificate is valid,PC The public key of the certificate is used for encrypted communication between entities.
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8. CA receive PKI The entity's certificate registration request message.

A. 1-3-5-4-2-6-7-8

B. 1-3-5-6-7-4-8-2

C. 1-3-2-7-6-4-5-8

D. 1-3-2-4-8-6-5-7

ANSWER: D 

QUESTION NO: 15

Which of the following options are correct for the description of visitor management? (Multiple choice)

A. Visitor registration account can be configured to be exempt from approval

B. Guest login can only be configured as Web Way of webpage

C. Anonymous account authentication cannot be performed on the guest authentication page

D. Visitor account approval information can be notified to visitors via SMS

ANSWER: A D 
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